
Numbe
r Pic Farmertec # OEM

1-8 PJ20001 1129 020 2601 
1129 020 2903

4 PJ200T01PRO 9640 003 1191
9640 003 1190

7 PJ20020 9531 003 0105

8 PJ200T05 1129 029 0500

9 PJ20006PRO 1129 030 0400

10 PJ66029A 1120 036 8500

11 PJ200T04PRO 9512 003 2030

12-15 HS200T40 1129 030 2002

12-16 QG200T 1129 020 1202

17 PJ200T02 1129 029 2303

Holzfforma G111 Parts List
NAME

Chainsaw



4,8,17,2
0 PJ20091 1129 007 1050

20 PJ200T03 1129 149 0600

18 TM05160 9022 341 0980

19 PJ20015 1129 140 0601 
1129 140 0602

21 TM04160 9022 313 0680

22 PJ25065

25 TM04160 9022 313 0680

26 PJ20072 1129 791 6100

27 TP04140 9104 003 3004

28 PJ20050 1129 790 9902

29 PJ20065 1129 351 4000



30 TP06190 9074 478 4435

31 PJ20079 1129 352 7700

32 PJ20081 1129 352 5000

29,33,36
,37 PJ20019 1129 350 0853 

1129 350 0806

34 PJ20068 1129 352 5500

37 PJ20021 1129 350 3600

36 T0006 0000 350 3500

38,39 T0021 0000 350 0525

40 PJ18025 1123 640 3800

41 PJ20022 1129 647 9400

42 PJ18099

ST 
MS170/180/210/230
/250/192T/200T/020

T



43,45 TM05160 9022 341 0980

44 PJ46061 1128 640 9100

46 TM04160 9022 313 0680

47 PJ20051 1129 790 9900

48 PJ20072 1129 791 6100

49 TP04140 9104 003 3004

50 PJ25071 1123 648 6600

51 PJ20071 1129 664 2400

52-57 PJ20076 1129 007 1000

58 PJ20061 1129 664 2401

59-68 PJ20017 1129 640 3200



69 TM04120 9022 313 0660

70 PJ20063 1129 020 1150

71 TM04120 9022 313 0660

72 PJ20064 1129 020 1150

73 TM04120 9022 313 0660

74 PJ20018 1129 640 7100

75 PJ20062 9512 933 2270

76 PJ20004 1129 640 2000

77-80 PJ20016 1129 160 2000

80 PJ18056 0000 997 5515

81 PJ20048 1129 656 7701



82 PJ20028 1123 160 5400

83 TP04140 9104 003 3004

84 PJ20010 1129 648 7700

85 PJ20011 0000 997 1018

86 PJ20012 1129 162 7800

87 PJ25071 1123 648 6600

88 PJ20013 1129 162 6600

89 PJ46064 1120 162 5200

91 PJ20009 1129 640 1702

92 T0031 0000 955 0801

93 PJ20014 1129 640 5000



94 PJ18040 1128 160 5000

95 PJ20008 1129 792 9100

82,83,84
,85,86,8
8,91,93,

94,95

PJ20007 1129 792 9100 
1129 640 1702

82,83,84
,85,86,8
8,91,93,

94,95

PJ20007A 1129 792 9100 
1129 640 1702

96-97 T0022 0000 350 0526

98 PJ20027 1129 400 1201

99 TM0801A 0000 955 0802

100 T0068 0000 400 7000

100 T0004 1110 400 7005

101-115 PJ20005 0000 400 1306

114 TM04200 9022 371 0710



116 #NAME? TD04100 9104 003 8710

117 PJ20060 1129 084 7800

118 T0038 1118 195 3500

119 T0036 0000 958 0923

120 T0035 1125 195 7200

121 T0044 0000 195 8200

122 PJ18034 1123 195 0400

123 PJ36140 1135 190 0600

126 T0001 1121 195 3400

116-128 PJ20002 1129 080 2105

116-128 PJ20002A 1129 080 2105



129 TM04160 9022 313 0680

130 PJ20077

131-134 PJ20024 1129 140 1902

135 PJ20023 1129 120 1602 
1129 120 1607

136 PJ20070 1129 122 0100

137 PJ20056 1129 120 3401

138 TM00005A 9216 263 0700

139 PJ20003 1129 120 0653

140 PJ20067 1129 122 3300

141 PJ20047 1129 121 8600

142 PJ20053 1116 790 9600



143 PJ26051B 1113 141 1805

144 PJ20054 1129 141 2200

145 PJ20049 1129 141 3300

146 PJ20069 1129 791 7502

147 #NAME? TD04100 9104 003 8710

148 PJ20031 1129 182 5100

149 TP04140 9104 003 3004

150 PJ20026B 1129 791 0600

151 PJ20030 1129 182 0800

152 PJ20041 1129 791 4400

153 PJ20038 1129 182 1500



154 PJ20034 1129 180 4000

155 PJ20037 1129 182 1501

156 PJ20032 1129 180 1500

157 PJ38093 1117 182 4500

158 PJ20036 1129 185 2000

159 PJ20039 1129 185 1901

160 PJ20035 1129 180 8000

161 PJ20040 1129 185 1900

162 PJ20052 1129 123 7508

163 PJ20033 1129 180 0900

164-166 PJ20085



167 PJ20074 1129 440 4000

168 PJ20073 1129 442 1600

169 #NAME? TD02995 9099 021 1760

170 PJ20078 1129 793 3001

171 PJ25064 1125 122 6600

172 TP06215 9074 478 4475

173 PJ20026A 1129 790 1003

174 TM05120 9022 341 0960

175 PJ20025 1129 791 1700



BRAND
Holzfforma Farmertec

Parts Name

Crankcase Assy (WT Bearings oil seals etc.) For ST 
MS200T MS200 020T

FarmerBoss™ Oil Seal Set (Viton Rubber) 12x20x5 
For ST MS200T MS200 020T

Roller bearing 12x24.5x8.8 For ST MS200T MS200 
020T

Crankcase Gasket For ST MS200T MS200 020T

FarmerBoss™ Crankshaft For ST MS200T 020T

Woodruff key For ST MS200T 020T

FarmerBoss™ Piston Needle Cage Bearing 9x12x10 
For ST MS200T MS200 020T

Piston Kit For ST MS200T MS200 020T

Cylinder Piston Kit 40mm For Stihl MS200T MS200 
020T

Cylinder Gasket For ST MS200T MS200 020T

Holzfforma G111 Parts List



Set Of Gaskets for ST MS200T MS200

Muffler Gasket For ST MS200T MS200 020T

SPLINE SCREW M5X16(For tightening hand guard & 
muffler)

Muffler For ST MS200T MS200 020T

Spline screw IS-M4x16

Tank Vent For ST MS200T MS200 020T

Spline screw IS-M4x16

Screw For AV Buffer

SELF-TAPPING ST4*14

Annular buffer For ST MS200T MS200 020T

Insulating plate For ST MS200T MS200 020T



Self-tapping screw P6X19(For tightening  handle bar 
& annular buffer & chain catcher)

Bracket For ST 020T MS200T

Hook For ST 020T MS200T

Fuel Tank For ST MS200T MS200 020T

Clamp For ST MS200T MS200 020T

Fuel Line For ST MS200T MS200 020T

Fuel Filter

Fuel Cap

Oil Filter For ST MS200T MS200 020T

Oil Line For ST MS200 MS200T 020 MC200 201 
MS192T

Bumper Spike Pro Bigger Type For ST MS200T



SPLINE SCREW M5X16

Valve For ST MS200T MS200 020T

Spline screw IS-M4x16

Annular buffer For ST MS200T MS200 020T

Screw For AV Buffer For ST MS200T MS200 020T

SELF-TAPPING ST4*14

Bumper strip For ST MS200T MS200 020T

Collar screw

Chain Adjuster Adjusting Screw Kit For ST MS200T 
For ST MS200T MS200 020T

Collar screw M8 For ST MS200T MS200 020T

Oil Pump For ST MS200T MS200 020T



SPLINE SCREW M4X12(For tightening brake cover & 
oil pump)

Cover(Large) For ST MS200T MS200 020T

SPLINE SCREW M4X12(For tightening brake cover & 
oil pump)

Cover(Small) For ST MS200T MS200 020T

SPLINE SCREW M4X12(For tightening brake cover & 
oil pump)

Worm 3/8"-6T For ST MS200T MS200 020T

Drum Needle cage 10x13x13 For ST MS200T MS200 
020T

Clutch Drum 3/8"-6T For ST MS200T MS200 020T

Clutch For ST MS200T MS200 020T

Clutch Spring For ST MS200T

Chain catcher For ST MS200T MS200 020T



Brake Band For ST MS200T MS200 020T

SELF-TAPPING ST4*14

Cover For ST MS200T MS200 020T

Tension spring For ST MS200T MS200 020T

Flat Spring For ST MS200T MS200 020T

Bumper strip For ST MS250 MS230 025 023

Limit stop For ST MS200T MS200 020T

Pin For ST MS200T MS200 020T

Chain sprocket cover For ST MS200T MS200 020T

Hexagon nut M8

Insert For ST MS200T MS200 020T



Brake Level For ST MS200T MS200 020T

Hand Guard For ST MS200T MS200 020T

Complete Brake Assembly For ST MS200T MS200 
020T

Complete Brake Assembly For ST MS200T MS200 
020T(Dark Grey Color)

Oil Cap For ST MS200T MS200 020T

Fly Wheel For ST MS 200T MS200 020T

Flywheel Nut M8x1

Genuine NGK Spark Plug BPMR7A

L7TC SPARK PLUG FOR NGK BMP7A MANY ST 
HUS and OTHER MACHINES 

Ignition Coil  For ST MS200T MS200 020T

Spline screw IS-M4x20



Self-tapping screw P4x10 For MS200T MS200 020T 
020 MS270 MS270C MS280 MS280C MC200

Segment For ST MS200T MS200 020T

Spring For ST MS200T MS200 020T

Washer For ST MS200T MS200 020T

Starter Pawl For ST MS200T MS200 020T

Starter Rope 3.0X850MM

Starter Pulley For ST MS200T MS200 020T

Starter Spring For ST MS200T MS200 020T

Starter Grip

Recoil Starter For ST MS200T MS200 020T

Recoil Starter For ST MS200T MS200 020T(Dark 
Grey Color)



Spline screw IS-M4x16

Pan head self-tapping screw P5x18 For ST MS200T 
MS200 020T

Air Filter Cover (With Twist Lock,Spring,Clip) For ST 
MS200T MS200 020T

Air Filter For ST MS200T MS200 020T

Foam Insert For ST MS200T MS200 020T

Air Filter Base For ST MS200T MS200 020T

Nut M5

Carburetor For ST MS200T MS200 020T

Connector (Air Filter Base And Carburetor) For ST 
MS200T MS200 020T

Washer For ST MS200T MS200 020T

Annular buffer For ST MS200T MS200 020T



Sleeve For ST MS200T MS200 020T

Intake Manifold For ST MS200T MS200 020T

Intake Manifold Supporting plate For ST MS200T 
MS200 020T

cover For ST MS200T MS200 020T

Self-tapping screw P4x10 For MS200T MS200 020T 
020 MS270 MS270C MS280 MS280C MC200

Trigger switch For ST MS200T MS200 020T

SELF-TAPPING ST4*14

Handle Molding For ST MS200T MS200 020T

Trigger interlock For ST MS200T MS200 020T

Bow For ST MS200T MS200 020T

Throttle Rod Short For ST MS200T MS200 020T



Double lever throttle For ST MS200T MS200 020T

Throttle Rod Long For ST MS200T MS200 020T

Trigger For ST MS200T MS200 020T

Torsion spring For ST MS200T MS200 020T

Choke lever For ST MS200T MS200 020T

Choke Rod Long For ST MS200T MS200 020T

Double lever choke For ST MS200T MS200 020T

Choke Rod Short For ST MS200T MS200 020T

Grommet For ST MS200T MS200 020T

Switch shaft For ST MS200T MS200 020T

Ground wire For ST MS200T MS200 020T



Contact Spring(Small) For ST MS200T MS200 020T

Contact Spring(Large) For ST MS200T MS200 020T

Self-tapping Screw 2.9x9.5 

Slide For ST MS200T 020T MS200

Carburetor Bolt For ST MS200T MS200 020T

Self-tapping screw P6X21.5

Handle Housing  For ST MS200T MS200 020T

SPLINE SCREW M5X12

Handle Bar (Left Side) For ST MS200T MS200 020T


